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Section A (20 x 2 marks = 40 marks)

For each question from 1 to 20, four options are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,
3 or 4) on the Optical Answer Sheet provided.

1. The following table describes four piants P, Q, R and S, based on two
. characteristics. A tick ( ¥ ) shows that the plant has the characteristics
as described.
Plants P Q R S
Characteristics o o
Reproduce from seeds M v
Grows in the pond v v

Based on the information above, identify piants Q and S in the
‘following classification tabie.

[ Plajﬂs ]

[ Flow:ering ] lNon—ﬂt;weringJ

r Aquatic ] Land ' Aquauc . nd )
Lk 87'4 ——1-'—r D

Plant Q Plant S
(1) A B
2) D A
- (3) -8 C -
(4) C D
2
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2. Study the classification chart below.

=
|

{ high electrical conductivity ] [no electrical conductivity q

have a have a have a have a

definite definite definite definite
shape and volume but shape and volume but

volume no definite volume no definite

ghape

shape

I magnetic l l magneticf ' I magnetic l [ magneticq .
B Don-magnetic } Ecm-magnetic j [.non-magneticq Eon-magnetic ]

) )

What do the lefters X and Y represent respectively?

, X Y
[y 2% steel can salt water
& brass plate steel can
3) brass plate rubber hose
o) sait water . rubber hose
3
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A tennis ball was released from the top of ramp P. i rolled
downwards and along the floor. Then, it travelled up ramp Q and
down before it was stopped by a wooden block R as shown in the
diagram below.

AN

“Based on the diagram, which one of the following statements is true?

(1) Ramp P has a rougher surface than ramp Q.
“'(2) ' Allthe kinetic energy will be used up when the tennis ball hite ramp R.
c () When thetenms ball is reteased from ramp P, it gains potential energy.

{o-potential-energy when the tennis ball
—--travels up ramp Q.

“Uncle Tim wassaudng a piece of-wooden piank with an axe as shown
below.

Which one of the following correctly describes the energy conversion
that allows work o be done as shown in the diagram above?

(1) Kinetic energy —> Heat energy + Sound energy + Chemical energy
(2) Sound energy — Heat energy + Sound energy + Kinetic energy
(3) Potential energy — Sound energy + Kinetic energy + Heat energy
(4) Heat energy —> Potential energy + Kinetic energy + Sound energy
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5. The diagram below shows an open curved tube. A ball is placed at
position A and is released to allow it to roli down the curved tube.

Which one of the following statements is true?

(1)  The ball would fly out of the curved tube.

(2) The ball would roll to position B and come to a stop.

(3) The ball would roll to the highest position C then move back to
position B and come to a stop.

(4) The ball would roll to the htghest position D then move back to
positions C, then B before coming to a stop.

6. Dynamos and loudspeakers-make use of
force to work.
(1) gravitational ) . magnetlc )
(3) frictional _ NC)) tuming
5



7.

Study the electrical circuit below carefully.

H

)

S1.

_@___/L_

? g

e

In the circuit abowve, four bulbs B1, B2, B3 and B4 are connected to
three swiiches S1, S2 and S3. The table bslow shows which bulb/
bulbs will be lit when the given switches are closed.

(1)

(4)

Switches Bulbs
{1 S8t [ .82 S3- B1- B2- B3 _ B4
closed | -closed open LIT LIT LIT ?
open | open- | cosed { UNLIT | UNLIT ? UNLIT
closed | open closed LIT ? LIT LIT
"| open_ | closed | open ? uT LIT [ UNLIT
Which one of the following.: best describes the symbol “?" when the
given switches are closed?
B1 B2 83 B4
UNLIT UNLIT LIT UNLIT
UNLIT LIT UNLIT UNLIT
LIT UNLIT UNLIT UNLIT
UNLIT UNLIT UNLIT UNLIT
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8.

The four diagrams below show forces at work in our daily lives.

Tom dragging a parcel

Leonard tightening a bottle of water

Peter snow-skiing down a
mountain

How many of the above examples show the presence of frictional
force?

(1)
(2)
(3)
4)

one
two
three
four
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9. = Two bar magnets suspended by threads are separated by a thin
piece of aluminium foil. Which one of the following diagrams comrectly
shows what will happen when the magnets are brought close together?

(1) (2)

thread thread * /[thread theead
s | N S| N N|s] N [ s
Alwsmninium foil Alummium foil
(3) (4)
thread ' thread ﬂ'll“ thread
N S S I N
l S N S [N

Ajuf.\_:in ium foil Aluminiumn foit ‘

10. The graph below shows the extensions: of three different types of
springs A, B and C when different weights are hung to each.

<

A
. Extension
(cm)

.
>

Mass

(@

Which of the springs couid be used to weigh an object of mass 300g7?

(1) AandB only (2) A and C oniy
3) B and C only (4) A, B and C only.



In an experiment, four rubbar bails of different weights were released
from the same height and the number of bounces was recorded. The
graph below shows the result. Study the graph carefully and answer
‘questions 11 and 12.

Number of bounces

{
16 -
12 +—
88—
4 4
TR > Mass in grams
2 4 6 8
11. - Which of the - following --statements correctly interpret the result

- —obtained from the graph above?

K The heavier the ball, the more bounces it makes.
B~ The heavier the ball, the greater the air resistance it
experiences.
,Zf ghe heavier the ball, the smaller the gravitational pull on the
aly
ol The heavier the ball, the greater the gravitational potentaal
energy it possesses.

(1) A and C only (2) A and D only
(3) B and C only (4) B and D only

12. What is the mass of the rubber ball if the number of bounces
recorded is 1007

(1) 25g (2) 50g
(3) 75¢ (4) 100g



13.

-14.

Rena caried out an experiment tu find out the effects of anti-skid
substance n the distance moved by an object across a surface. In
her espanrmumnt, a glass block was rmade to move over four similar
tiles voated with anti-skit! substance VV, W, X and Y. She repeated her

S expedinsit four tiines wity four different anti-skid substances and

tabulated her results below.

hand halding

tile”
Anti skid Substance Average: distance moved by
. ]tegassblockem) |
I A S 24
. X ] 40
Y A5 e

Which aiti-skid substance shotid Rend choose to apply on the tiles in
her bathroom to pravent slipping?

(1) 2)
(3) (4)

The events listed (not in order of sequence) took place when disease
ket #inet of the lions in the jungle. .

K

W
Y

Y/
X

The zebra population increased rapidly.

B Overgrazing resulted in insufficient food for the
zebras.
A The zebra population decreased.

R’

Too large a zebra popuiation resulted in the loss of
grass lands.

Which one of the following shows the correct sequence of events?

. A D B C ..

B b .C. D___ L A
} A .. D _._C B

D c A B

10



15. The graph below shows the change in the population of caterpillars in
a given plot of land with time. ,

4

Population of
caterpillars

Time in weeks

Which of the following may result in the change in population size of
the caterpillars as shown in the above graph?

Drought
.Crops infasted with diseases
Increase in population size of mynahs
D~ Increase the use of pesticide

(1) Aand B only (2) A and C only
(3) A, BandDonly (4) A, B, CandD

1’6_. A group of Primary six pupils wanted to find out the effect of
overcrowding on the growth of string bean plant. They planted some
string bean seeds in six pots A, B, C, D, Eand F. _

Pot | Type of scil Amount of water Number of Size of pots

~ used daily (em®) seeds (cm® -
A garden 200 10 1000
B sandy 200 20 2500
C _garden 400 20 1000
.D loamy . 200 20 1000
E sandy 200 10 1500
F loamy 200 20 2500

Which two of the following set-ups should the pupils use so as to
ensure a fair test would be carried out?

(1) Aand C
(2) Band D
{3) Cand D
(4) Dand F

11



17. Jonathan caught three fish while ca
. The fish were in a transperent plastic bag. As soon as he

ing at

arrived home that day, he immediately transferred them into his
aquarium. After a few hours, he noticed that the three fish he had
caught earlier were dead.

plastic bag

What was the most likely reason for this?

ceem o (5 There-was insufficient food.

-(2)— -Fhere-were few water plants in the aquarium.

- —{(3)- There was notencugh water in-the-aquarium.
. There was a sudden change in the salinity of the water.

(4)

.18. -~ -SaraiTtransplanted a seediing from one pot to another. A few hours
2 .~ - later, shefourxd that the seedling had changed in appearance.

What is the most likely reason for this change in appearance?

(1)
(2)
(3)
4)

Intensity of the sun's rays

Amount of moisture in the soil

high high
high low
low high
low low

12
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19.

20.

Study the diageam below.

The above joirt can be found in the

A Elbow
B Wnst
C Hip
D Shoulder
&
(1) Aand& only (2) B and C only
(3) Cand D only (4) A, B and C only -

Which one of the fottowig transports food, oxygen and waste

-—=  —products in-our-body?
(1).- . Circulatory System (2) Digestive System
- -(83) Respiratory System - (4)  Muscular System

21.

22.

Which one of the following body parts is not made up of muscles?

(1) Heart (2) Gullet
(3) Skull (4) Stomach

What is the fumction of the large intestine in our digestive system?

(1) |k digests the food.

(2) It passes the digested food to the biood.

(3) It reabsarbs water from the undigested food.
(4) It passes the undigested food out of the body.

13 -
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23.

24,

- (1)

(

Study the diagram beiow.

Ice wrapped in

wire g

Test tube

Water

auze

Flame

When the water at the surface starts to boil, the ice at the bottorn still
does not melt. This experiment shows that the
conductor of heat.

(1)
(3)

ice
water

Which one of the following shows a water cycle?

Rain

Water
vapour

'\

Droplets |- --

of water

Droplets
of water

s
e

Water
vapour

-

Water from
" lakes,
rivers and

oceans

Rain

14

is a poor
(2) testtube
4) wire gauze
(2) Droplets
of water .\
- Water
Rain vapour
Water from
lakes,
rivers and
@ .
Rain |
Water from Water
lakes, rivers vapour
and oceans
\. Droplets /
of water




25.

26.

Study the classification table below.

Matter
Group A Group B Group C
Brick Nitrogen Milk
lce Water vapour Glue

Which one of the following lists of items is grouped comrectly based on
the classification table above?

Group A Group B Group C
N Qil Plasticine Petrol
(2) Wood Steam Dew
$L Plasticine Oil Wood
(w28 Butter Dew Petrol

Compare respiration and photosynthesis in the organization chart
below.

Photosynthesis

B

_—

A <—— Raw materials

i — Products

Which of the following correctly represents A, B, C and D?

A B C D

(1) Carbon - Sugar Food Water
dioxide Oxygen Oxygen Carbon dioxide
Water

% Water Carbon dioxide Oxygen Food
Oxygen Sugar Water Carbon dioxide

({ Carbon Food Water Carbon Jdioxide
dioxide Oxygen Oxygen Sugar
VWater

M Carbon Water Oxygen Sugar
dioxide Carbon dioxide Sugar Oxygen
Water

15




27. A student grouped sofme plants as shown below.

A B ' c D

Potato Carrot Rice Cauliflower
Ginger ~ Sweet potato Peas Broccoli

In the table, plants are grouped according to

(1)  how ihey reproduce

(2) their usefulness to mankind
(3) how the¥r fruits are dispersed
(4) their edible plant parts

28. The diagram shows a pulley system.

NN
X
\
A\
A\
N

7 7. . ’ :i s
A s

Which of the following statements are true?

/ Pulley Y does not move but puliey X does.
A smaller effort is needed to move the load.

. The pulley system changes the direction of the force.
The distance moved by the effort is same as that of the

load.
(1) A and B only (2) C and D only
(3) A, BandConly (4) A B, CandD

16



29. Which one of the following machines would require a force less than
500g to lift up a 500g load?

C D

Z -
©)

(1) A and B only ) (2) B and C only
3) A, B and C only (4) ‘B, Cand-D only

17



30. In the diagram below, which of the following simple machines are
represerted correctly by the letters A, B, C, D and E in the Venn
diagram?

-]
Tap Windlass
Screwdriver Corkscrew Cross Spanner
Wheel and Axie Levers
Inclined Plane
A B C D E
¥ Tap Windiass Stairs Corkscrew | Screwdriver
@) Windlass Screwdriver | Corkscrew | Sugar Tongs Staire
. . . Cross
_ Sugar Tongs Stairs Screwdriver Spanner Tap
Cross .
Spanner Corkscrew Tap Screwdriver | Sugar tongs

18
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Section B (10 marks)
Write your answers to questions 31 to 46 in the spaces promded

Marks will be deducted for misspelt key words.

31. Study the classification chart below carefully.
[ Kingdom j
[ Monera Fungi Ptant ]
| (Bacteria)
E—m-ﬁhl
( Bacilli j l Bread mould } ( Flowering j Lon-ﬂowenng ]

SVA N | 1{«.)

A
\_ N
(a) Based on the diagrams abeve, describe the physical appearance of _
the Bacilli and the Bread mould as shown.” ) (1 mark)
(i) Physml appearance of Bac:llt »
(ii) Physical appearance of Bread mould:

(b) Bacteria are described as one-celled organisms with a celi wall,
plasma membrane and cytoplasm. However, they are not grouped
under the Plant Kingdom. Suggest a possible reason why they have

been placed in_ a separate kingdom. (1 mark)
(c) Complete the classification chart above, by filling in the appropriate
answer in the box labelled (c). (1 mark)

20



32. Tom received an incomplete information sheet from a zookeeper. The
' information shows six different animals with backbones as classified
in a chart based on their characteristics. Complete the classification

chart below. (3 marks)

-Vertebrates:

|

R Feathers thls present
, absent
! Moist skin

without scales

21



33.

Anthony wanted to find out how the amount of oxygen in all three jars
of similar size would change with time. He put different number of
maize plants and grasshoppers in three sealed jars labeiled A, B and
C as shown in the tabis below.

[ Jars | Number & Maize plants Number of grasshopperﬂ
A 5 0 ]
B 0 2 |
C 5 3 ]

He placed the three jz-s in a field from 8 a.m. to 5 p.m. He then used
an apparatus to measure the amount of oxygen in each of the jars at
the end of the experimant.

In the space below, draw two other line graphs and label them “A” and
“B” to show the relationship between the amount of oxygen in the two
jars and the duration of the experiment. (2 marks)

Amount of axygen

A

8 am. Sp.m. Time

22
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A poputation count was carried out at the end of each month to study
the effect of weedkillers on the papulation of the vegetables grown in
a farm over a period of time. The results were recorded in the graph
as shown betow.

t
R
Population ™ |
of
vegetables
) | | I >
| I I 1 ]
January February  March April Time

(a)

(b)

Describe the changes in the population of the vegetables duﬁng the
four-month period. {1 mark)

During which period was the weedkillers introduced on the vegetable
farm? (1 mark)

23



35.

(a)

(b)

Steve connected a looping piece of track and two other pieces of
track as shown below. He placed the longer end of the track, Track X,
against a stack of books to make a ramp. Then, he released a marble
from the top of the ramp W.

Track X

Steve noticed that the marble rolled onto the loop but dropped
vertically down onto track Y just before i could reach the top of the
loop. Explain why this happened. (1 mark)

_ Describe what Steve could do to change the set-up if he wanted the
same marble to roli around the loop bafore roling onto track Y.
< (1 mark)

Pa—

24
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38. Omar conducted an experiment as shown in the diagram below.

siring
block
)
| A
.
‘l .4"8’/ lwgﬂ

He pulled the elastic band backwards together with a pebble to
position A. Upon release, the pebble moved forward and hit the block
suspended by a string. The block swung upwards to position C
through B before falling back.

He pulled the elastic band backwards together with a pebble to
paosition A. Upon release, the pebble moved forward and hit the block

. suspended by a string. The block swung upwards to position C
through B before falling back.

(a) State the main energy conversion from positioﬁ A'to position B.
. . (1 mark)

in elastic band at pbsition A

j ts converted to

r

+ 1

L .

-~

in the block at position 8

(b) What could Omar do to increase the speed of the pebble without
replacing the elastic band? (1 mark)

25



37.  June used a circutt tester o test a circult card as shown below.

Q@ m a »

-

T ™ U =

L

Key
< Paper clip

___ Copper wire

(2) Based on the circuit card above, complete the results that June would

obtain in the table below.

(1 mark)

*  Pairs of clips tested

—

Did the bulb light up?

Aand H

B and |

Dand E

Fand G

(b) State the main energy changes when the bulb iight up in the circuit.

~ (batteries)’

<

26
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38. Corine carried out an experiment with the apparatus as shown below.

She recorded the tme taken for a toy car to travel from A to B. The
experiment was repeated and the results were shown in the table

below.
First experiment Second experiment
Length of ramp (cm) 100 150
Distance A and B (cm) 80 80
Angle of inclination of ramp(®) 40 40
Surface of the ramp plastic wood
Mass of toy car (g) 30 30
Time recorded (s) - 5.2 7.0
(a) Mark the angle of inclination of the ramp (that is, the angle between
the ramp and the rsaip) with the letter *Q” in the diagram above.
—_ £ 1
_ fl@r‘ | (1 mark)
(b) State the relationship between the surface of the ramp and the time
taken for the car to move betwsen A and B. (1 mark)
(c) In the diagram abovs, draw an arrow labelled “F" to show the direction
of the frictional force acting on any of the wheels of the toy car when it
was moving down tha ramp. (1 mark)
27
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39. The two charts below show the percentage of the different energy
sources used to generate electricity in the Southeast Asian region in
1993 (actual) and 2010 (projected).

Geothermal
Nuclear

Geothermal
Nuclear 30+

Energy source Energy source

(a) Compare the two charts in 1993 and 2010 and write down two
differances between them. (1 mark)

(i)

(i z L

(b) A table shown below is used to tabulate and group the six different
energy sources inio two main groups. Complete the table by fllling in
the apprapriate energy sources. (3 marks)

Energy Sources

Renewable Non-renewable

28



40. Tommy carried out two separate experiments as described below. in
the first experiment, he carried out the following steps as described.

Step 1: Wrap a piece of paper tightly around the full length of a
wooden rod. :

Step 2: Wrap some copper @' Lround the middle portion of the rod.

Step 3: Move the rod to and fro across a flame for a few minutes.

After the copper foil had been removed from the rod, he abserved that
both sections A and C were charred while Section B remained
unaffected. He then sketched two diagrams to show the results of the
experiment below.

copper foil ft i portion not
opp after moving R charred
X rod to and fro the flame
r A 2 S
<———> >
paper paper portions charred

In another experiment, he placed a copper coin on a piece of paper
and held the paper over the candle flame for a few minutes as shown
in the diagram below.

coin
paper " / '

r
(a) Shade in the diagram above his observations after he removed the
paper from the flame. ‘ (1 mark)
(b) Suggest what Tommy would observe if he were to repeat the second
experiment using a plastic cap instead of a copper coin.
- (1 mark)
(c) Explain your answer in (b). (1 mark)

29



41. A teacher put a metal spoon into a cup of hot freshly brewed coffee as
shown in the diagram below.

Metal Spoon

Hot Coffee
Cup

Based on the set-up, she asked her students to write down the item(s)

that gained heat and lost heat. (2 marks)
Gained Heat:
Lost Heat:

42. The volumes of three objects X, Y and Z were measured using a
measuring cylinder containing 60 cm® of water. (2 marks)

......

60cm?

80cm? &

State two properties of the objects that may result in the above
observation.

M

(it)

30



43. Sheila took some ice cubes out from a freezer. Then, she started
heating the ice cubes in & beaker. After a while, she stopped the
heating and placed the beaker on a table in the kitchen.

The graph below shows her results.

2+

)
©
|

Temperature (in °C)

N (24 a (41 [*] ~
(=] (= o [~ o o
I I I SR B

-
o o
l

\

c
/ 1 S I 1 1T T I
A1 2 3 4 5 6 7 8 9
'10'ﬂ Time (in min)

Study the graph above carefully and answer parts (a) and (b).
(2 marks)

(a) (i)  Which part of the above graph shows the melting of the ice?

(i)  What was the temperature in the freezer?

(b) Describe what was occurring along the line DE?

31



L

b)

The diagram below shows how the gears and chain in a bicycle works
together to drive it forward.

Draw arrows in the boxes provided above, the directions that the two
gears should be turning. ~ (1 mark)

Explain how the two gears work. (1 mark)

32



45 . Study- the -graphic .organiser, below. Write down the similarities and
differences of the two processes, boiling and evaporation of water, in
the boxes provided. (4 marks)

Boiling of Water Evaporation of Water

N

Similarities

Differences

Where does it
occur?

At what
temperature
does it take

place?

33
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4‘6(a) The diagrams show a pair of scigsors. Label the effort and fulcrum in

the diagram below.

(1 mark)

(b) Draw lines to complete the pulley system below. (1 mark)

%

Setters: Mrs Tan Yoke Cheng
Mdm. Brenda Kok

C

!

7%

D

[0

~—e———-END OF PAPER

34
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SECTION B (40 Marks)

Appropriate Answers Partial Answers | 0 Mark

31(ai) Bacilli: rod-shaped, Oval shape,

elongated in shape (1/2) rectangular shape
long and narrow (in
shape)

31(aii) Fungi(bread mould):

a cap and a stalk (1/2)

31(b). Baciti does not have ® Bacteria do not
chlorophyll /chloropiasts have leaves to
and cannot make food (1m)or make food.
Bacilli feeds on decaying » Ptants are made
organic matter instead of up of more than 1
making food.(1m) cell but bactena is

only 1 ceil.

31c Femn, mosses, algae, mimos2, hydrilla,
pine (1m) elodea, underground

stems/roots

32a - cold-blooded goat - cannot bark

“opposite | -feathers present; gills absent dog - can bark
*plant —eater Mheérbivore;
animal/flesh-eater/ carnivore goat - has small
* homns / Na Homs ears, small tail
* No spots/spofs on body dog ~has big ears,

* Has beard/has no beard long tail
* dry/ rough skin with scales (Very subjeclive)
(1/2 each)

dog - omnivore

34a. A decrease in the population The population of
during the month of vegetables remain
February,(1/2) constant in January.
an increase from end of
February to March and a
further increase in April.(1/2)

34b. -End February / March {1m) Batween February
-During end of February and March (1/2)
to/and March (1m)

-From March to April (1m)

35a. - The marble dropped Steve did not push
because it did not have the marcble hard
enough energy (1/2) to enough (112) or
overcome gravitational -
force/the force{s) pulling the
marble downwards (1/2) or

33. Check the amount of oxygen at which the pupils stact to draw the 3

(1m) -

(1m)

line graphs A
Amount C
Wrong label (minus %) of
oxygen
B
Time




Appropﬁate Answers

Partial
Answers

0 Mark

. 35a

35b.

- The marble is going
against gravitational force
when it goes up the loop.
As the kinetic energy of the
marble is not great enough
to overcome the
gravitational force, the
marble dropped vertically
down onto track Y.

Weight/The force pulling the
marble downwards was larger
than the force(s) pushing the
marble upwards.(1m)

Join more tracks or extend
Track X so that it becomes
longer and lean it at the same
angle against the book(1/2).
Then release the marbie from
a higher starting position.)(1/2)
or

Push the books closer to the
loop so that the ramp
becomes steeper(1/2) and the
marble can be released from a
higher height.(1/2)

or

Increase the number of books
so that the ramp becomes
steeper(1/2) and the marble
can be released from

a higher height.(1/2)

or

Make the loop smaller

Some of the GPE
has been
converted to KE
and other forms
of energy(1/2)

As the marble
reaches the top of
the loop, the
gravitational force
caused it to drop
vertically down

Give the marble a
hard push.(no
change to the set-

up)

Elastic Potential Energy; (1/2)
Kinetic Energy + Gravitational
Potential Energy (1/2)

Exclude “Energy”

36b.

Stretch the etastic band
further. / longer /more (1m)

He could use
more¢ strength
when pulling the
elastic band
back.(1/2)
(indirect answer)

- He could puit
the elastic band
backwards. (0)

- Change to a
smalilér size
stone.

(the pebble)
- Omar stepped

backwards.




Appropriate Answers

Partial
Answers

0 Mark

37a.

Pairs of
clips tested

Did the bulb
light up?

Aand H

Yes

B and |

Yes

Dand E

No

Fand G

Yes

no partial answers

37b.

Chemical Potential Energy ;
Heat Energy + Light Energy
(no partial answers)

electrical energy is
in the circuit

38b.

The smoother (rougher) the
surface of the ramp, the
shorter{longer)} the time taken
for the car to move between A
and B. (1m)

or

The smoother the surface of
the ramp, the faster the car
takes to move from A to B.

or

The more the frictional force
on the surface of the ramp, the
longer the time taken.

39ai.

The use of oil is lesser in
2010 compared to 1993.(1/2)

No comparison bet
1993 and 2010

39aii.

The use of other energy
sources ( gas, coal and
geothermal) has increased in
2010 compared to 1993.

or the total usage of energy
sources is more in 2010 than
in 1993.

No comparison bet
1993 and 2010

39b.

Renewable:

Hydro, Geothermal
Non-renewable:

Oil, gas, coal, nuclear (1/2
each)

38a.

ramp

correct direction but no
label (1/2)




Appropriate Answers Partial 0 Mark
: \ Answers
40a. | See diagram below.
Award mark if entire paper excapt the circular
patch is coloured.
paper
40b. | The surface under the piastic cap would burm/ the paper The plastic
become charred. Or turned black. cap will
the paper will get chamred. melt.
40c. | The plastic cap is a poor conductor of heat (1/2) The plastic
and is unable to conduct heat from the paper capis not a
(172). conductor of
heat. Or
The plastic
cap does
not conduct
heat.
41. gained heat:
metal spoon/ cup / surrounding air
lost heat; coffee (1/2 each)
42i, The object has a definite volume. (1m) wrong spelling mis-interpret
(definate) volume as
weight. °
42ii. | The object occupies space / take up space (1m)
43ai. | BC (112)
43ait. | -10 °C (1/2) 00 units
43b. | -cooling of water to room temperature (1m) coaling of water
- water from the melted ice is cooling down to | (¥2m)
room temperature.
- The liquid is fosing heat to the surrounding The liquid is
air till it reaches room temperature. losing heat to
- The temperature starts to drop to room- the surrounding
temperature. air. (1/2)
)



Partial 0 Mark

Appropriate Answers
Answers

both arrows

44a.
must be correct
(1m)
44b. | When a force is applied, the big gear turmns, and | force must be
energy is transferred along the chain to the mentioned.
smaller gear which causes it to tum too.(1m)
or

When a force is applied, the big gear will tum the
chain. As the chain is linked to the small gear so

it will tum.(1m)

45. | Similarities:

a) Liquid / water is changed to gas / water
vapour. (1m)

b) Both require heat. (1m)

Differences:
a) It occurs throughout the water (1/2)

Ocecurs only at surface of water (1/2)

b) Takes place only at 100 °C / boiling point
(172)

Takes place at various / all temperatures
(1/2) :

4B6a.

fulcrum

(1/2)




46b.

Lf\

500g

(1m)

or

(1D
(D

5009

72



